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No. of Questions/uwit # dear ¢ 150
Time : 2 Howrs) | [Fuull Marks : 450

W ; 2602] [qurtes : 450

Note : (i) Aftemptas many questions as you can. Each question carries 3 (Three)
marks, One mark will be deducted for eack Incorrect answer.
Zero mark will be awarded for each unattempted question.
i gl #) T T 5 e B | Tk v 3 (@) s w i
TR T T & A w S Sy SR | Y SEAE T W
WIS I A |

(if) 1f more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.
Ik TS d%ichs s ot s % e gdfld 8, @ Peeaw #d oW
%

1. Crown prince of which of the following countries was the Chief Guest at the
Republic Day Parade of Indin in2017

(1) Irag {2) Iran (3} Abu Dhabi (4) Yemen
ﬁmﬁﬁmwmwm%'nﬁmmgﬂnmg@mﬁﬁm
(1) o= ()35 (3) gur (4) am

) (Turn Over)
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2.

Who of the following is Chairman of Banks Board Burcau of [ndia ?
(1) Mr. Anil Baijal (2) Mr. Vinod Rai
(3) Mr. Devendra Maharshi {4) Mr. R. K. Singh

et & 3 S o 9 =@ %t g 2 7
(1) i =f= W= (2) #ft B

(3) *h %= weht (4) a0 , fiw

Who of the following Indian cricketers scored 150 runs in his comeback
match against England in Cuttack, India in 2017 ?

(1) Sanjay Manjrekar (2) Yuvraj Singh
(3) Mahendra S. Dhoni (4) Irfan Pathan

Pttt sty frdbe Raenfeal 3 & frad o amoeht #9 # Fos, wra 4 2017 3
g & favg 150 W aqman a7 ?

(1) &3 A - (2) T fie

(3) 7R Wo A ' (4) TEHE BH

Who gave the slogan "Make America Great Again' ?

(1) Bill Clinton (2) Donatd J. Trump
(3) Barak Obama (4) J. F. Kennedy

Ve ot e oA TeAw A R T
(1) et faien (2) Ees o T
(3) T S (4) o Tho FAH
(2) (Continued)
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How many satellites were launched by ISRO on 15th February 2017, which
became a history 7

15 @l 2017 9 w0 g e R2emgz @ Rl R, = i o Yo v T 7
(1) 102 . (2)-103 (3) 104 (4) 105

To which of the following Indian States, sport 'Jallikattu' belongs ? |

(1) Andhra Pradesh (2) Tamil Nadu

(3) Kerala (4) Kamataka

Puferfe sl oodt 3 & R womew @9 i’ A% 2

(1) sraw - (2) miterg

(3) (4) FAIES

BRIC’ which was the organisation of 4 nations namely Brazil. Russia. India
and China, has now become 3 nations organisation. Which is the fifth nation
included in it ?

(1) SouthKorea. (2) SouthAfrica  (3) Singapore (4) Spain

'BRIC' =R &if s, ¥, YA 3R A W W W, o’ v A W ey e
T | R W e 4wl fem o g 7
T) g iR Q) Aflon mbem a2 Gy (4) ¥m

3
( ) {TWR Ol-'fr)
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8.

10.

Who of the following recited Gayatri Mantra before the Pakistan's Prime
Minister recently ?

(1) Malini (2) Hema

(3) Naroda Malini (4) Afrin |

Frferiiga 4 @ fhe3 nieae 3 quReE & oog TReh 03 oA G
(1) micrh (2) ¥

(3) o wfer (4) R

Trivendra Singh Rawat is the 9th Chief Minister of which of the following
States ?

(1) Chhattisgarh (2) Jharkhand

(3) Uttarakhand (4) Manipur

[ e e e f G R T S e qea il @ 7
(1) el (2) W

(3) TGS (4) afdrg

Sound can travel t_]uough

(1) Gases only (2) Solids only

(3) Liguids only (4) Solids, liquids and gases
eafy i § @ o et & i & el @ 7

(1) | (2) Fad Iw

(3) 34w 7@ (4) 2, wie o A

{4) (Continued)
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13.

I7UN17/57 (1)

Who of the following was the Chairman of the Drafting Committee of the
Constitution of India ?

(1) Dr. Sacchidanand Sinha (2) Dr. Rajendra Prasad

(3)- Dr. B. R. Ambedkar (4) Dr.P. Sitaramayya
ﬁn&hﬂﬁ-%ﬂqm%#ﬁmaﬁwm’mmnm ?
(1) = uFaF=, R (2) T T ¥AT

(3) o My A, I (4) o Fi Hamdzn

How many Indian languages-have found plce in the Constitution of India

at present ?

"R & wrrwet i e i Rt it el ot Rt v d 2

(1) 15 (2) 20 3) 22 ‘., (4) 24
The term of office of President of India is five years from the date he
(1) Files nomination (2) Declared elected

{3) Enters upon his office (4) Court uphelds & slsetion
W 3 gafty i v W o e & R R R R
(1) FnriesT ween & (2) Faifm.sife fen s 2

(3) TN UEe e # 4 muﬂ-ﬁm@ﬁﬁﬁamg

(7 Ovey)
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14, 3rd January is celebrated as :
(1) Kisan Divas (2) World Post Day
(3) Fathers Day " (4) Fundamental Duty Day
Ird Sl foFm ®9 § R S R
(1) frm feaw (2) fava s fomd
(3) T Rew (4) v wder Raw

15. The Panchyati Raj institutions are constituted through

(1) Nomination
(2) Direct election
(3) Indirect election

(4) Nomination and indirect election
(A T Ee4E W et B g — - g

(1) T

(2) v Frafem

(3) v Fafa

(4) A @ T P

16. The foderal system of India has been borrowed from the Constitution of
(HUSA. (2) Australia (3) Canada (4) France
s £ G e st A R % wfue @

| (6) (Continued)
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17.  Who founded the Communist legal theory ?

(1) Marx and Engels © (2) Maine
(3) Blackstone (4) Austin
g o R w s s s
(1) 7l @ ey (2) %
(3) SFRA (4) anfem
18. Which of the following Prime Ministers never ficed Pacliatnent during his
tonure 7
(1) Chandra Shekhar (2) Lal Behadur Shastri
{3) Charan Singh {4) LK. Gujral

P & @ v e 3 ared wrererer & g @ amen l fear 2

(1) wzian (2) == Ry I
(3) won R (4) %o %o ToCR
19. Which of the following bodies is presided over by a non-member ?
(1) Legislative Council (2) Legislative Assembly
(3) RajyaSabha (4) Lok Sabha
mwaamMmmmwt ?
(1) fom uftee (2) femawm
(3) T (4) %hamm

(Tern Over)
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20.

21.

22.

Which one of the following does not find place in the Constitution of India ?

(1) Finance Commission (2} Niti Aayog

(3) Election Commission (4) Public Service Commission
frferas § A 5w SRR A R AH W R 2

(1) fa= amain (2) i s

(3) Frafem amam (4) SRE sEm

Which of the following steps was taken by the British Authorities in India
in 18297

(1) Outlawing the practice of Sati

(2) Ensbling Hindu widow remarriage

(3) Prohibiting female infanticide

(4) Land reform

Tsfen wifuemicdl gro e & 3 1829 ¥ Froforfag § § 99 FGR S391 T O T

(1) weft wo Y 3w W FA

(2) fomg T g ) 9 &

(3) uften wor wea o e w=en

(4) viits GE

Which of the following disease is caused by virus and transmitted by mosquito
(1) Plague {2) Typhus

(3) Yellow fever ' (4) Filarisis
ﬁnﬁﬁﬁamﬁwm%ﬁm@m%ﬁmrﬁfﬂﬁm%?

(1) = (2) wimm

(3) e == (4) wi

(8) (Continued)
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Which of the following Harappan sites is kitown for rice ciiltivation ?

fl) KotDiji ~ (2) Kalibangan  (3) Lothal (4) Bhanwali
TN F R e i R A IR SRy amem d ?
HFe Q) wdim () S (4) veawht
Which of the following tools were used by the people of the Mesolithic age ?
(1) Iron tools (2) Copper tools

(3) Small stone tools (4) Quartzite

Feiferta syl 3 § i JaiRe w1 $ v g s R w7

(1) shg Iv (2) T I

(3) T T Iq 4) wRE

Who of the following was the ruler when Megasthanes visited India ?
(1) Chandragupta Maurya (2) Ashok

(3) Harsh (4) Chandragupta il

e % e aen & W g w1 e R § 2 o 0 7

(1) e el (2) endv

(3) =t “44) SR

(Turn Over)
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26.

7.

28.

To which of the foliowing ‘Milind panha' is related ?
(1) Sanskrit play (2) Political treatise
{3) Religious conversation (4) Chyonicle
Pretffies # & g Aife v g R
(1) wepagem (2) T faey
(3) wifif Fwtem (4) A
Pillar edicts' came into existence in [ndia during the regime of which of the
foilowing rulers
(1) Ajatshatru {2) Padmanand
(3) Ashok {4) Pushyamitra
e PRRE’ W A sifRe T o s § R fewd s w1 & R
(1) sraerd (2) wgE<
(3) om (4) T
Who of the following made a successful attempt to free himself from the
control of the 'Ulemas' ?
(1) Jalabuddin Akbar (2) Alauddin Khalji
(3) Balban (4) Firoz Shah Tuglak

Arfafig § 3 AR %ﬁm’%ﬂﬁwﬁmﬁwﬁmmﬁ%mmm
frmoa 1

(1) SR ST (2) s et

(3) wer (4) Rl TR T

(10) (Comtinued)
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In whose time European paintings got place in the Court ?

(}) Aurangzeb  (2) Shehjahan (3) Jahangir (4) Akbar
e et e & i s 9 9 wam fire ¢

(1) s (2) wveere! (3) e OF

Which of the following has the highest energy 7
I Bluelight

I. Greenlight

Hl. Redlight

IV. Yellow light

Choose the correct options ;

(1) Only I (2) OniylI (3) Ounly I (4) OnlyIV

1 4 d arfem oot fea 2 7
[ e semn & |

L % v i

. T sy o

V. dren e o
w8 fawey o

(1) 3@l (2) ¥l (3) w1 @) ¥y
Who propounded the legal theorv cailed 'Utilitarian Individualism' ?

(1) Austin (2) Salmond (3) Taylor (4) Bentham
ﬁrm safwar (Utilitarian Individwalism) s ﬁﬁa:- Rigm whmia
(1) siifeer (2) wrew= (3) ¥w (4)

T

(Zurn Over)
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32.

3.

34,

Where were the 2016 Summer Olympics held ?

(1) Beijing " (2) Rio de Janciro, Brazil
(3) London (4) Delhi

2016 % s TR sl w8 WY ?

(1) =i (2) fa &3, EIEIR

(3) T (4) f&

Who of the following is the founder of the National Indian Association ?
{1) A.O. Hume (2) Mary Carpentet

(3) Mahatma Gandhi (4) Pherozshah Mehta
P & 2 9 e e TG e & 2
(1} U 3o BH (2) #FER

(3) wgTewT Thith (4) frreE dEa

Who of the following was the Head of Administration in India at the time of
partition of Bengal?

(1) Lord Wavell (2) Lord Linlithgow

(3) Curzon © (4) William Bentick
ﬁqﬁ%ﬁﬁ%ﬂqmﬁmmﬁﬁmﬁmﬁﬁﬁmgm ?
(1) wié TR (2) @ié ferRan |

(3) FRH - (4) fafem dfes

(12) {Continued)

i
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35. Which ofthe following got support from both Muslims and Hindus ?
(1) Quit ludiaMﬁvemem- (2) Khilafat Movement
(3) Anti—pmﬁtic;n Movement (4) Champaran Satyagraha
R & & Pl memm e g A1 2 e e
(1) wnd Big) aﬂm (2) Reerra wFdew
(3) fem foreg e (4) I FemR

36. Common cold is not ctired by antibiotics because it ia

(1) Caused by Gram negative bacterium

(2) Not an infectious diseasa

(3) Caused by virus

(4) Caused by Gram positive bacterium

R T H ™ T g T g wite

(1) =2 awr Priide fifn S s B & 1
(2) 98 ' waews o A R |

(3) 9% Ry (2w qr whio B & |
(4) T 7w atfwies =i g witva B 2

37 Who of the following i the founder of *Servants of India Society'
(1) Lals Lajpat Rai - {2) Mahatma Gandhi
(3) G.K. Gokhale _ (4) Dayanand Saraswati
Freaferfra 3 & 9 ‘W 3w e & geoos @ 2
(1) &em FRa T (2) wEmwfen

(3) S %, riterct ) T T

(13) (Tirm Orer)
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38 Whereis Indian Institute of Sugarcane Research situated ?

(1) Luckﬁnw (2) Kanpur (3) Gorakhpur (4) Allahabad
s R T g T e e R 2
(1) THaAS - (2) FAR (3) TER (4) TR

39. Which of the following is the National Tree of India ?

(1) MangoTree (2) AshokTree  (3) Banyan Tree (8) Peepal Tree

frffiaa # & fad WG 1 TEH G T AR ?

(HamEgq  (2) 0F F W (3) T W GE (4) doet = 39
40, Who is the present Chief Justice of India ?

(1) Jagdish Singh Khehar (Z} Rajendra Mal Lodha

(3) T.S. Thakur (4) H.L. Daltu

o ¥ e o Sifeew A R

(1) s e @& (2) T3 e

(3) Fo W TH (4) T T UG

41. How many mega biodiversity countries are inthe world ?
P et el we e G R

(1) 8 ) 10 (3) 12 ) 14 .

( 14) { Continued)
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Who is known as father of White Revolution in India ?
(1) Dr. M. . Swaminathan (2) Dr. William Gade
(3) Dz V. Kutien (4) Dr. Manmohan Singh
wree & T iR w1 e Rew wl a2 7

(1) 3k W, T @il (2) = faftrm mz

(3) & i, Fhaw (4) ot 7 R

Where the distribution of powers between the Union and States are provided
in the Constitution of India ?

(1) 2nd Scheduie (2) 4rth Schedule

(3} Tth Schedule (4) Snth Schedule.

"R & & § g UE ot & i el e s wew @ 2
(1) 330 srgeeh (2) et e

(3) woelt et (4) o sgeh

In which of the following it is provided that India is a Union of States ?

(1) The Government of India Act 1935
{2) The Independence Act 1947

(3) Constitution of Thidia

(4) Land Law

- Pt 33 Rl az srafie ¥ fs una e s w2

(1) & Taw o7 sfvan gz 1935
(2) R ¥R e 1947
(3) w7 1 gAY

(4) wfufr
2L (Tirn Over)
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43.

46,

Who of the following is not a citizen of India ?

(1) Who is born in the territory of India

(2) Either of whose parents was born in the territory of India

(3) Was ordinarily resident in India for not less than five years at the com-
mence of the Constitution

(4) After March 1, 1947 migrated to Pakistan

Bt 3 QA W T AR Q!

(1) ¥ T % U9 a # T A

iz]ﬁﬂ%'qm—ﬁmﬁ%ﬁém%méiﬁmm

(3)%%%%m%m%ﬁmm-ﬁ—m¢haﬁﬁm%
a7 i T dk = P e

(4) 19 1947 & e i § vae e B

Which of the following are considered as constituents _nffnod 7

L Protein, carbohydrates, and fats

1. Vitamins
[ Minerals

V. Water

() LILTV (2) Only 111 (3) Only ILIII (@) L1L L1V
Frafifiaa & @A-%H 8 graged & T § 7

[ YRR, ST LT :

. faf
1. fufred
V. 9

(1) LILIV @¥eLu @FLI @LILILEY

(16) (Continued)
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47. Thescientific study of law (J urisprudence) first started among ——

48,

49,

(1) Romans  (2) Greeks (3) Europians (4) Arabs
Ry (Sghagd) mﬁmmmﬁﬂ%mmy 7
(1)t (2) dmr (3) e (4) aweg

The Right to property belongs to which of the following category
(1) Fundamental Right (2) Constitutional Right

(3) Statutory Right 14) Customa ry Right

wwit w afuen Pafiles § @ i doh w2

(1) s, (2) wdwis wham

(3) wifafrr sy @ wfom At

Who propounded the theory law and siate are the same'?

(1) Kelsen (2) Maine
(3) Blackstone (4) Robert
ﬁ?ﬂel ﬁ&l Hﬂﬁm—ﬂ%megmﬂg}wmmﬁa &?ﬂ
(1) e (2) *0 ) Ry | .
R
(k)
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50.

51.

52.

53

54.

Who of the following presides over the joint sitting of both Houses of Parlia-
ment ?

(1) President . (2) Vice President

(3) Speaker Lok Sabha (4) Prime Minister
PRy 1 @ =i wag 3 26t At I Fgw 9% R serEd R 7
(1) Tt 2) svagi

(3) #eaE TEHEAI (4) wur

The 'Rule of Law' as propounded by A. V. Dibey as how many components ?
ﬁﬁmw‘ﬁmﬁﬁ%%mﬁmuﬁwﬁa%%ﬁ;ﬁﬁmﬁ ?

1 (2} 2 (3) 3 @) 4

How many schedules are there in the Constitution of India ?
e 6 i § 3 P aggfei R 7

(1) 8 S VAR (3) 11 (4) 12

‘The concept of 'co-parcenary' is in vogue in which of the following

(1) Muslims ~ (2) Hindus (3) Clristians (4 Parsee
"R~ T Faaon Frfeioa A & fr el 7
(1) JHeH @) =, (3) ¥ R

For the commission of a erime which of the following is the most important
component ?

(1) Motive (2) Intention {3) Preparation (4) Brawl

%ﬁmﬁﬁmmﬁ%mﬁﬁ%ﬁaﬁﬁ%ﬁqmﬁm@m%?
(1) T . (2) (3) drt (&) T

(18) (Continued)
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Direction : (Question No, 55 to 65) Given below are Legal Principle followed by

55‘1-

6.

a Factual situation. Apply the principle to it and select the most appro-
priate answer for questions among the four choices given.

LEGAL PRINCIPLE : I, asa result of carelessness, one injures another, lile%s
legally liable to the injured vicm for resulting damages, unless the victim's
own carelessness also contributes to causing the-ageident’

FACTUAL SITUATION : A carclessly keft an iron pole protruding across a
public road. 200'metess from that Spot was a traffic signal indicating the
speed limit to be at 30 kmph. B, ¥iding.a scooter at 60 kmph, noticed the
protrusion from a distance, but still could not avoid it, collided with the pole
and was injured. In an action by B against A,

(1) B will succeed becaise A was careless,

(2)B will succeed because A could have avoided the mishap by putting up a
. warping,

(3) B wilt lose as he was driving very fast,

(4) B will lose for some other reason.

LEGAL PRINCIPLE : A petion shall not bo guilty of contemyt of Court on
the ground that he has published (whether by words, spoken or written, or by
Signs, or by visible representations, or otherwise) any matter which interferes
or tends to interfere with, -or obstructs or tends to obstruct, the course of
justice in connection with any civil or criminal proceeding pending at that
time of publication, if at that time he had no reasonable grounds for believing
that the proceeding was pending, '

FACTS : Mr. 'X! delivered a ,1§§EUIEF§t1ﬁ n%%r ' ¢lub in favour of an
accused who is prosecuted for assulting a pdlicfl:%EéE Bt saia thay the
accused is a victim of Tevailing corruption in the judiciary and he knows that
the accused is going {0 5 Himiked by e Court for being honest, M. is
charged for committing contempt of Cougt. o

(1) Mr. "X"has not eos enigmpt of Court

(2) Mr.'X' has committed contempt of Court

(3) Mr. X has dishonowssdahe Court

(4) Mr. X shal| be acquitted because he is an honest man

(19)
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57. Principle : In order to be eligible to appear in the semester examination, a
student is required to attend, under all circumstances, at least 70% of the total

classes held in that semester as per University rules.

FACTS : Sunil, an cconomically poor but a very brilliant student of L.L.B.
final semester while going to his University by cycle received some leg
injurics in road accident, Consequently Sunil could not atiend bis classes for
one week us he was advised rest by his doctor for that period. Due to this
absence (fom the University, Sunil failed to have 70% attendance essential to
appear in the examination and therefore, he was debarred from appearing in the
exarination by the University authorities. Sunil challenges this decision in

the court of law.

(1) Sunil will succeed in the court of {aw as the accident was beyond his

control.

(2) Sunil will definitely get favour of the court on humanitarian ground as he

comes from a economically poor family and may not afford to take re-

admission.

(3) Sunil will not succeed as he could very easily fulfil eligibility criteria for

appearing in the examination by being reasonably regular in the class

throughout the semester.

(4) Sunil will succeed as requirement of 70% aitendance may be declared

arbitrary and {herefore, unreasonable by the court of law.

(20) (Continued)
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58. Principle : All citizens shall have the fundamental right to carry on any occupa-

59,

tion, trade or business, But reasonable restrictions on the exercise of such rights
can be imposed by law in the interest of the general public.

FACTS : A large number of persons had been carrying on the business of dyeing
and printing in Rajkot area for the last 25 years providing employment to about
30,000 families. From these business places untreated dirty water was being
discharged on the roads thereby causing damage to the public health, A notice,
therefore was given to close this business il fnecessary measures to protect
public health as provided under the environmental statutes were taken by those
businessmen,

(1) Notice cannot be justified as it will cause loss of employment to 30,000
families.

(2) Notice cannot be justified as it amounts to violation of the fundamental

right of the persons who have been carrying on the business for the Jast 25
years.

(3) The nofice cannot be jistified on the rm&-ﬁﬁﬁmgommw;h as
the persons in that area have been voluntarily residing for long and have
become used to that enviroiiticts. '

(4) The nofice eart'be justified as the rigtit to Wisinesess Trtsbaolyie and
reasonable restriction ¢an be imposed by law in the interest of the public.

' {21 ) (Turm Ovey)
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60.

FACTS : Ashish is carrying on a chemical and fertilizer industry near the bank
of river Ganga. In order to prevent and control any kind of harmto the environ-
ment, suitable waste treatment and disposal plants were installed in the factory.
Due to some sudden mechanical/technical problem, these plants ceased to work
properly and therefore, caused environmental pollution, which ultimately caused
substantial harm to the environment and to the people living around the factory.
Victims of such pollution file a suit for suitable remedy.

{1) Victims cannot succeed as necessary precautions to prevent any harm
were taken by Ashish.

(2) Victims cannot succeed as the mechanical/technical problem was sudden
and, therefore, beyond the control of Ashish.

(3) Victims can succeed as it is the duty of Ashish to see that no harm is
caused 1o the environment/people due to his activity under any circum-

stances.

{4) Victims coutd succeed if treatment/disposat plant were not instailed in the
factory.

Principle : An agreement to do an act impossible in itself cannot be enforced

by a court of law.

FACTS : Sagar agrees with his girl friend Sunita to phuck Stars from the sky
through this extraordinary will powe, and bring them down on earth for her
within a week. After the expiry of one week, Sunita filed a suit for damages
against Sagar for the breach of contract as Sagar failed to perform his promise.

(22) (Continued)
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(1) Sunita can succeed in getting damages as Sagar has deceived her
(2) Sagar cannot be held linble as he honestly believes that his love for Sunita

is true and therefere; he will sueceed in his endeavour.
(3) The court cannot entertain such suits as the act promised under the agree-
ment i3 impossible in itself.

(4) Sagar can be held linble for making an absurd promise.

Frinciple : Qui facit per alium facit per se, i.c.. he who does things through
others does it himself,

FACTS ; Nidhi, the owner of a car, asked her friend Sumit to take her car and
drive the same to her ¢ffice, As the car was near her office.it hit a pedestrian
Prakash oft secount of Sumit's neglipe: driving and injured him seriously. Now

Prakash files a suit for damages agairist Nidhi.

(1) Nidhi is not liable as it was the negligence of Sumit

(2) Sumitis solely liable as Nidhi was not driving the car

(3) Nidhi is liable s Sumit was driving under her authority and for hez purpose

(4) Sumit will be exempted from liability under the principle of inevitable
accident

MGﬂPmm:&mhgm whobuys any goods or services
for a consideration and uses the goods for non-commercial purposes, Excly-
sive use of the goods for the purp eaming his livelihoog, by means of
self-employment is not considered as comemercidl Use™Arpe

proach & consumer forum if there ig deficiency in goods of services,

FACTS : 'A", a taxi-driver recaived s CHr RO SYStem For free, iy

clectronics company through a draw of lots and installeq
Sometime later, the music systeff Storna: .

tronics com fmnasmpm&mmkWE m wfﬂ'
the company ffiaco use
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63.

(1) Yes, 'A" is not using the music system for any commercial purpose. e is
just playing it in a taxi for earning his livelihood.

(2) Yes, there is a deficiency in goods since the music system became non-

functional.

{3) No. 'A" is using his taxi for ferrying passengers which is a cominercial
purpose. Hence he is not a consumer.

(4) No *A' is not a consurmer since he has not paid any consideration of the
music system.

LEGAL PRINCIPLE : Violation of a Legal Right, with o without damage.

gives rise to a tort,
FACTUALSITUATION :'A’ establishes a coaching class and charge 5000 per

year as fees. A's neighbour 'B' establishes another coaching class thereby
creating a competition. This forces A to reduce his fees to 3000 per year.

Question Can'A' claim damages from "B’ for the loss caused to him ?
(1) Yes, he can as B has viotated his Legal Right.

(2) No, Ahas reduced the fees on his own.

because thu;.lgh there was damage there was no legal injury.

(3) No,

(4) None of the above.

(24) (Contintied)
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PRINCIPLE : The fact that any person was born during the continuance of a
valid marriage between his mother and any man or within two hundred and
eighty days after its dissolution, the mother remaining unmarried, shall be
conclusive proof that he is the legitimate son of that man, unless it can be
shown that the parties to the marriage had no access 1o each other at any time
when he could have been begotien.

FACTS : X and Y married on January 15, 2013, Y, the wife of X, never left her
parental home and never went to her husband's home. A boy was bom to Y on
July 15, 2015. For the Court.

(1) There shall be a conclusive proof that the boy is the legitimats son of X.
(2) There shall be no conclusive proof that the boy is the legitimate son of X,
(3) There shall be a coriclusive proof that the.boy is the illegitimate son of X.
(4) There shail be no evidence at all.

LEGAL PRINCIPLE + Every person is entitled to freedom of conscience and

to profess, practice and propagate his religion subject to public order, morality
and health,

FACTUALSITUATION : X, a Muslim sacrifices a cow on Bakra-[d believing it
to be a part of his religious rites, However, there was a law of general prohi-

bition on slaughter of cows, X, was prosecuted for slaughtering cow,
Answer ;

(1} X cannot be prosecuted ag killing of cow on Bakra-Id has the Muslim
religious sanction,

(2} X can be prosceuted as the state has a right to regulated the freedom of
the religion in the interests of the public ordex.

(3) X can be prosccuted in the intterests of the public morality,

{4) X can be prosecuted, as the slaughtering of cow js cruelty to animals,

(9) (Turn Ouer}
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66.

b7,

b8,

A !:t}f shooting at a [owl with intent to kill it, kills B who is behind a bush, while
A is not knowing that he was there, Does A's act amount to murder ?

(1} A is guilty of murder.
(2) Ais guilty of culpable homicide not amounting to mrder.

(3) A is not guilty of culpable homicide as he did not intend to kill B or cause
death by doing an act that he knew was likely to cause death,

(4) A is guilty of killing the fowl under the Wildlife Protection Act and also
for committing as offence affecting the human body, killing B.

A knowingly causes damage to the house of B and thereby has reduced the
wility of the same. A has committed

(1} House wespass (2) Mischief
(3) Criminal trespass (4) Breach of trust

AWB#W@&%W%W@W%WMW#IW
R | A Y ww B R

(1) 78 HRER : (2) R
(3) AR A (4) =
Which of the following confers best interest in property ?

(1) Licence (2) Possession (3) Ownership (4) Trust

ﬂmﬁﬁﬁaﬁﬁﬁmmﬁiﬁmﬁam@m%?

nwE  OF (3) i (=

(26) (Continted)
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Decision of which of the following is binding on all Courts in India

(1) High Court (2) Supteme Court
(3) Service Tribunal (4). Tax Tribunal
ﬁﬂﬁ!ﬂﬂﬂﬁﬁfﬂﬂﬁﬁ#ﬂ!ﬂmﬁnﬁmmﬁmi
(1) = = (2) =5 ey

(3) Har =i (4) =~y

The title of & property in favour of an individual is decided by which of the
following Courts

(1) Criminal Court (2) Civil Court

(3) Revenue Court (4) Judicial Magistrate

W-Hﬁs%wﬂ_wwﬁmﬁa{mﬁa}%mﬁﬁ&mm
Froff i v &

(1) smaults =1 (2) Rifvw i

(3) 1o (4) wfsfvw wRege
Where a person voluntarily takes risk for sake of fun heis
(1) not entitled for legat protection

(2) entitled for legal protection

(3) Hable to be punished

(4) entitled to be appreciated

W#%,mﬁgﬁm%@hmiaﬂ

(1) Rfr a7 Heaor w1 373 Fiftrerlt T @
(Z}ﬁ%mmmmmmﬂﬁmt
(3) 3 B ot Hy s ©

(4) W w9 2

(28 (Turn Over)
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71.

73.

How the interest of consumer is protected in India ?

(1) by Criminal Law

(2) by Consumer Protection Law
(3) by Food Adulteration Law

(4) by Sale of Goods Law

mﬁmﬁm%ﬁﬁmﬁmﬁﬁmm% ?

(1) st fath g
(2) o g fafn @
(3) " e Frf g
(4) 7 fasea fafes gra

[n which of the following cases Gov ernment cannot be held liable 7

(1) For declaring war

(2) For imposing emergency

{3) For demonetisation

(4) For taking aciion against an employee

ﬁnﬁaﬁaﬁﬁmmﬁwﬁqﬁaﬁmmm% i

(28) (Continued)
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Which of the following laid the foundation of Federal system in India for
administration ?

(1) The Constitution of India

(2) The Government of India Act 1935

(3) The Government of India Act 1919

(4) The Charter of 1833

PR § & R wren & Rre i & g s B smanfren v @ 1

(1) 9ra =t dfem

(2) 2 etz 3 Tfoem w2 1935
(3)} 2 mainve s 3o waz 1919
(4) 2 =wd aitw 1833

Which of the following is the outcome of Minto-Marle Reform ?

(1) The Government of India Act 1935
(2) The Independence Act 1947

(3) The Indian Councils Act 1909
(4) The Indian Councils Act 1892

Prefeiflag F 4 ¥ Rrvdt-arel am = ohom & 9

(1) & vz i 3o v 1935
(2) R sfedddn vaw 1947

() R 1l sifeew o 1909
(4) & e Fiew e 1892

(29) (Turn Over)
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76.

Fp

18,

in which of the following countries terrorist group 'clue clux clan’ flourished ?
(1) Germany ~ (2) USA (3) France (4) Turkey
fraferfa 3 3 & R STl TG Tel T SWH W I £ o0 7

(1) st (2) Yo Wo o (3) B= 4) Tl
Who of the following isa'child' in India ?

(1) Who has not completed 10 years

(2) Who has not completed 15 years
(3) Who has not completed 18 years

(4) Who has not completed 20 years
i 3 Aefyfea 3§ & F ToF 2T
(1) ot 10 78 0 7 e 2

@) fr 15 e e
(3) Pt 18 = qu =& B 2

(4) Rred 20 28 g 7 e R

The National Human Right Commission is constituted under which of the
following ?

(1} Constitution of India

(2) Indian Penal Code
{3) Human Right Act
(4) Criminal Procedure Code

WWMmmﬁn%ﬁﬂaﬁﬁmmﬁﬂﬁmm%?

(1) Hi@ = gy
(2) WTTEf 28 Wik
(3) wrEtER SR

(4) 7w 3% Wik
(30) (Continued)
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A person who is not a member of a House of Legislature can become Minister
and he can remain so far a period of

(1) 4 months  (2) 6 months (3) 8 months {(4) 12 months

T it St Ruraee & Rt o 9 vew 76 2 9 v 2 a5 w9 A
& T 3

M4mi®s Q@ émdlias () swdiww {4) 12788 %

Annual Budget of the country is presented in Paﬂiamrml under which of the
following ? .

(1) Income Tax Act (2) Constitution of Indi

(3) Wealth Tax Act (4) Gift Tax Act
ﬁmﬁﬁuwmﬁmmﬁwﬁfﬁeﬂﬁ%ﬁm&mr@aﬁmmt ?

(1) a1 = il (2) v SfgyE.

(3) & =t arRify (4) T = Al

In a mixture of sand and iron of I kg iron is 20%:. blow-maeh.sand should be

added so that the proportion of iron becomes 10% 7
(1) 1.8 kg (2) B00gm (3). 900 gm. (4) 1000 gm

T 91 08 SR % 1 o Wo fororer & ohm 209 2 | feber vy 36 Fvaror & e simg
o =g amr 10% & S 7

(1) 1.8 fRo T (2) 800 am (3) 900 7m. (4) 1000 ww

Which of the following is the L.C.M of 2¢, L&
FrAferfigd ﬁﬁmﬂ*‘,%ﬂ-ﬂﬁ-ﬂh..‘ﬂgﬁq qug

(1) 972 (2) 23326 (3) "26656 4) 11664

3l :
) (Tiirm ﬂv'e”
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83,

84.

85,

86.

112 men ot § women can finish a work in 6 hours then 6 men and 10 women
will finish it in

v 1) 2.4 hours (2) 1.2 hours (3) 3.25 hours (4) 2.73 hours
af 2 7o @ S g U FH W 6 Wl EHd B @ 6T W 10 nfgemd
3t wd ) o T A ot R 7

()24m (2) 129 (3) 3.25% (4) 275 &R

The sum of the sides of a right-angled triangle is 36 cm. While its hypotenusc¢
is 15 cm. So which of the following is the difference of twa other sides of the
triangle 7 )

(1) 4 tm (2) 3em (3} 6cm (4) 7 cm

@aﬂﬁmﬁm}mﬁmﬂ’t@aﬁma‘m%ﬁmﬂ% | TEfh T W i ot 2
15 @ Mo |Hﬂ:;ﬂiﬁfﬁ]ﬁmi@aﬁ%ﬁﬁaﬁmﬁvﬁﬂﬁﬁﬂimmt?

(1} 4 B o (2} 3 1'f‘.‘ll'-‘l o (3] 6 ﬁn o [4} ?ﬂn Ho
Which one of the following is the sum of numbers from 1 to 500 7
Freffar 52 A9 1 8 G S00 T S A WA Y 1

(1) 1,00,000 (2) 399500 (3) 125250 (4) 499500

A man wrote fifty crore thirty five lakhs four thousand and fifty six as
50354056. Find out the mistake and point out which of the following is the

currectanswer
@mﬁm#@ﬁammmwaﬂsmsqﬂﬁﬁﬁﬂﬁ%@ 1
mﬁ%mﬁmaﬁmmﬁqﬁmﬁamuﬁm%

(1) 503540036 {2) 503500456  (3) 503504056  (4) 5030504056

(32) (Continued)
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Find the greatest number of four digits which when divided by 12, 18 and 35
leaves 5 as remainder

mﬁqﬁgﬁﬂmwmmﬁﬁﬂvﬁ 12, 18 71 35 @ w1 e wmq @
: .

(1) 8865 (2) 8825 (3) 8065 (4) 8850
In a class of 22 students, 21 students got an average of 44 marks, If the re
maining students get 66 marks, thie average marks of the whole class is

22900 % O w41 i 21 OFT 5t 3ed 44 o YW R £ 1 AR DY oI B 66
¥ T B @ @ qft Fe w aftgw B

(1) 30 (2) 45 (3) 40 4) 15

Which of the following is the average of first fifty natural numbers ?
Pierferfien & & 2t sy et sl sl ofEn B 1

(1) 28 (2) 20 (3) 25.5 @ 125

The ages of A and B are in the ratio of 5 : 4. If the sum of their present ages is
36, what is the present age ? :

LEd. AR AgTa RS54 | AR 3 T B W Y 36 =R
THA g MR 7

(1) 14 (2) 18 (3) 16 (4) 20

A train 120 m long crosses a pole in 10 scconds. What is the speed of the
train 7

(1) 35.5 km/hr (2) 43.2 kmtir
(3) 50 km/hr (4) 60.3 kmv/hr
120 4 ol @& @ T R lﬂﬁ%ﬂ;ﬁﬁﬁﬁ*i’fﬁﬁﬂﬂ&?
(1) 35.5 f hofT6 w0, (2) 43.2 fho /% %
(3} 50 & /50 W ) 60355 aholm. W
(3y

(Turn Over)
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92. Which of the following is related to Green movement ?

93,

04.

95,

(1) Agricultural production (2) Environmental protection
(3) Standard of life (4) Beonomic development

frefify § & #0 FE TR A TEg R 7
(1) $f I - (2) i HeE
(3) ¥ w0 (4) anffs forg

Which one of the following will not be a number of the series

1,8,27,64,125, ....2
ﬁm%ﬁaaﬁ%aﬁqw[wjlsz?mus .2 &t g 7 &h

(1} 1900 (2) 256 (3) 512 {4y 729

Vind the wrong number in the series 7, 28, 63, 124,215
yfwer 7, 28, 63, 124, 915 # e g it wrEw Hifg

(17 (2) 28 (3) 124 @) 215

iy 1357
Which fraction comes next in the Sequence =% g+ 7

_].,-3-,-511 9 X mq 1 s Reis F4 @ 7
748 16

12 1 5 10
1) 35 @35 3) 7 @ 17

(34) (Continued)
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96. In the series 357, 363,369 ..., what will be the 10th term
Y@ 357, 363, 369 ..., 3 gwster v2 @ 0 7

(1) 405 (2) 411 (3) 413 & 417

97. If x means+, + MEANS - ; +means x; and — means ., then

28x8+8-442=7
R x F1 a0 4, s - Tl X, W - L@

28x8+8-442m7
(1) 80 (2) 25 (3) 24 OR:
98. Which would be the proper order of the following (in ascending order) ?

(D) Trillion (2) Thousgnd (3) Billion (4) Hundred (5)' Million

freferien & @ < avaw oo B (TR 36 i)

OfkRm ) w3 i @WFE (5 PR

R & 5 TN ——--.____,(4)4!2’3,5,1
(35)

(Turn Over)



17UM7/17 (1)

99. If the following items are arranged from general to particular which one

would be the correct order

{a) Animal

(b) Feline

(c) Leopard

(d) Mammal

(€) Vertebrate

() Cat

(W fehbead Qacedbs (N aedbaf @ adcbef
wﬁmﬁaﬁwﬂﬁmﬂﬁﬁz%mﬁmﬁﬁﬁmmﬁﬁuﬁmm
(a) SR

{b}ﬁm(cﬁa@)

(¢) B (<)

() e (3)

(e) fraaw (i)

() R

ey Wy f lt-r:[a_ﬂ'cbef

¥ ] y =y

)

Wfehos”

(36) (Continued)
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100. Which of the following would be the meaningfuul order of the following ?
Doctor, Fever, Medicine, Medical shop

(1) Medical shop, Doctor, Medicine, Fever
(2) Fever, Doctor, Medical shop, Medicine
(3) Doctor, Medical shop, Medicine, Fever
(4) Med:inine,}]bctﬂr, Medical shop, Fever

Pt & 2 25 i s 3 g 7
¥R, GG, 7, FEREE

(1) ra, SHR, a1, 961
(2) 38w, TR, TEEHL, T
(3) s, eAveEn; @, wOR
(4) 7, ¥, FEvE, FOR

101. In an examination a student scores 4 marks for €VEry cormect answer and
looses 1 mark for eVEry WEGHE stmwer: 1 i wttEMee 7S fuestions and
secures 125 marks, the number of questions he attempls correctly is

wqﬁmﬁ.@ﬁﬁi_ﬂ?ﬂi” R % R 4 3% YW TN & 01 Y% oty e

&, melE Tyao

R 13 @ 31 & 1 2% 30 S 75 vt 2t B S 125 i -

T FR 39 3 R ¥ 98 I fon
(1) 35 (2) 40 Q)4 4) 46
(37)

(Zirm Over)
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102. Find the missing numeral in the number matrix given below :

8 R e T Afew § o G ¢
6 6 8
5 7 5
4 3 ?
120 | 126 | 320
(1) 4 (2) 8 )12 (4) 16

Direction : (Questions 103 to 187) : Read the following statement and answer the
questions which follow :

Six persons A, B, C, D, E, and F were playing a game . A's father,
mother and uncle wete in the group. There were Two women. B, the
mother of A got more points than her husband. DD got more points than
E but less than F. Niece of E got lowest points. Father of A got more
points than F but ¢ould not win the game.

oo e A T iR e @ T W # I
a:wﬁm,n,c,n,ﬁqaimﬁaﬁm’amA%ﬁm,muﬁww
HA 1o et Aﬁmﬁaﬁaﬁwﬂﬁ#ﬁaﬁﬁé | D&
£ & aitrs oiw d Reg FR ¥ | ) ol ) wEd o o 1A
ﬁﬁmaﬁtFﬁﬁﬁEaﬁmﬁ%%ﬁaﬁaiﬁwﬂaﬁﬁm;

103, Who stood second in the game 9
A 1 g v T e ¢

U\] A (2) B ) ¢ @D

(38) (Continued)
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104, B was one of the Indies. Who was the other lady ?
BRATAWR | wwhshaoht 7

() C

@)D (3) A (4} E

105, Whose wifeis B ?
B ferft owit } 2

(1) D

(2) C 3)E (4) F

106. Who won the game ?
der ¥ P R foh

(HA

2} B () F “4) D

107. Who secured lowest points ?
el T T 3% IF g 7 |

(1) B

(2 E BG)Aa @cC

Direction :{Qucsﬁﬂnsﬂﬂ: 108 to 112) : Read the following statement and answer

the questions which follow :



1701717 (1)

ﬁmﬁf@ﬁwﬁqﬁﬁﬁm@@mﬁmmi:

A,B,C,Daﬂﬁaﬁlaﬁﬁuﬁ%aﬁaﬁmwmm%mw
aam%qémﬁr@a@m%ihqéﬂmﬁmwmmwﬁtﬁ
Igeefm dea 2 ) wﬁm#%érﬂmm?ﬁaraﬁaﬁﬂiﬂﬂ?ﬁﬁ
fag w1 B 2 irﬂmﬁmmﬁiﬁﬁ&hwﬁmilﬁﬁﬁﬁﬂﬂ
mmm@mmalmma@aaﬁa@mwﬁw
T eTET @R |

108, How many subjects are studied and games played by the four friends ?
it fit zn T T o e v  wen T e SE R 7

(1)3,6 (2) 1,2 (3) 2,3 @) 4,5
109, Who is a cricketer ? |

R #H 3 7

A (2) B (3) C (4) D

110. Who is the Biology student 7

A RATI R TAPAR T

A (2B (3)C 4) D
111. Who does not play volleyball ?

e @ A8 e g

(1} A (2) B (3 C (4) D

112. Who studies Chemistry and plays table tennis ?
aﬁmwﬂﬁﬂwmm%ﬁmm%ﬁaaam% ?

(hHA Lk - "o

(40) (Continued)
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113. Which is opposite of South East ?

(1) South West (2) North
(3) North West (4) North East
TE-E R Tk ?
(1) 3 vitem (2) m
(3) F wiRm (4} s
114, Find the missing number :
13,32,24,43,35(....) 46, 65, 57,76
13,32, 24, 43,35 (....) 46 65; 57, 76
(1) 45 (2) 52 (3) 54 _(4) 55

115. Choose the group of letiers which is differentfrom others
aEd F 38 7 % wr S N @ i

(1) BD (2) K () PN (4) SU

116. You can keep your men satisfied if yuﬁ are able fo provideto them

(1) Discipline (2) Comforts..
(3) Security of Job-. {4) Warmth
#ﬂﬂﬁﬂﬁm_@ﬂwmhﬁmﬁmaﬁﬁMt
(1) Sxgmveet (2) Im
(3) Fm g ¢4)

(41)

(Zirn Over)
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117, If green means red, red means yellow, yellow means blue, blue means orange
and crange means green, what is the colour of clear sky 7

(1) Blue {2) Red (3) Yellow {4) Green

ﬁmﬁaﬁﬁa%m,mﬁmﬁﬁa%m,tﬁmﬁuﬁﬁﬁ%m.m%
W?W,mwﬁuﬁﬁa%mﬁlWMﬁhw??

(1) (2) I (3) 4)

118, A family consists of grandmother, father, mother, four sons, and their wives
and one son and two daughters to each of the sons. How many females are

there in all 7
o i 3 i, o, T, = g o R it Ao O g od 2 gl s I
# | oftar § o T i 8 7

(1) 24 (2) 18 (3) 16 (4) 14
119, Choose the pair in which the words are differently related

(1) Car: Road (2) Ship: Sea

(3) Rocket : Space (4) Aeroplane : Pilot

ﬂwmmﬂﬁaﬁﬁwiﬂwﬁﬁmﬂm%

(1) ¥R : 5% - (2) v SR

(3) TR« (4) T W : T

(42) | (Continued)
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120. Which one of the following is out of context?
(i}Omunanduf (2) Commodore - (3) ﬂngaalér‘ '(ﬁ)?&m
ﬁnﬁﬁuﬁﬁnmwa? ; S
Ok (2) FmiéR (3) Bt (4) weh

121. Which of the following represents the nature of a valid Hmdu mamage ?

(I} Contract (2} Understanding

(3} Sacrament (4) Partly understanding
ﬁnﬁfﬁﬁﬁﬁ%wﬁﬂﬂﬁmﬁmﬁmﬁ ?
(1) dfg (2) w=

(3) v @) s v

122. By which Constitutional Amendrient Act Was i€ Bt of Lok Saish seats
increased from 525 to 545 2

(1) TheTwentieth Amendment Act, 1964

(2) The Fety-secofid Aistmmenace. 1976

(3) The Forty-fourth Amendment Act, 1978

(4) Thirty-first Constitutiondl Amendment Act, 173

mmﬁmmﬁmmaﬁmaﬁmﬁmmmﬁmm
(1) 20 3t g sif¥fe Yops

(2) 42 3t wmiver sfvfamy 9024,

(3) 44 af waiem afifrm 1978

(4) 31 3t weitew =RFaw 1973

(Puryy Over)
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123, A lady wanted to buy a railway ticket but fnding crowd near the ticket window

124,

125. Thﬂ"‘i’ﬁ-l'a{}il_:)"

at the station, asked Raju, who was ncar the window, o get a ticket for her and
handed him money for the same. Raju took the money and instead of getting
the ticket, ran away with it. What offence has been committed by Raju ?

(1)} No offence.

(2) Criminal breach of trust.
(3) Criminal misappropriation.
(4) Theft.

Assertion (A) « The essence of joint .liabi-lity under Section 149 of the IPC is
that the Criminal Act must have been doné with a view to fulfil the common

abject ofan untawful assembly.
Reason (R) : Any sudden and provocative act done by a member of an unlawful

assembly would render the other members of that assembly liable.

(1) Both A and R are individually true and R is the correct explanation of A.

(2) BothA and R are individually true but R is not the correct explanation of A

(3) Ais true but R is false.

(4) Aiis false but R is true.

of his statement could not be proved. Here yeracity' means

(u Slﬂmﬂy {1} Seriousness

(3) Truthfulness (4) Justifiability

(44) (Continued)
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126. Find the appropriate preposition to fill the gap out of the options given below :

Every ope of us will have to alone ——his or her misdeeds.

(1) of (2) sbout (3) for (4) by
127. Which of the following is appropriate words to fill the gap ?

The chair would break if both of you :

(1) will sit in it (2) sitin it

(3) satin it (4) would sit in it

128. Which of the following is most suited to complete the sentence ?
Penury is the worst slavery and —1o death,

(1} would soon lead (2) may sooner lead
(3) will soon lead (4) will sooner lead
129, Find the ome word substitute :

One who does a thing for pleasure and not as profassion. _

(1) philanderer (2) amateur
(3) empirical (4) imposter
130. A person who does not believe in the exisfeAce ortTod is
(1) thiest @) athiest
(3) altruist (4) agnostic
131, Which of the following is antonym of 'Barbarian' 9
(1) unrefined (2).giyilized
(3) forcigner (47 uncuitured
(45)

(Zirn Over)
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132. Which of the following is antonym of 'sacrosanct’ ?

{1} surreptitious (2) sanctimonious
(3) unholy {4) sacramental
133. Which of the following is synonym of 'Aborigines’ ?
(1) absolutions ) (2) first design
(3) primitive inhabitants (4) Concepts:
134. Find the synonym of claustrophobia’ from the following
{1) Tear of Ghosts (2) Fear of closed spaces
(3) Lack of confidence {4) Urge to steal

135. In this question six sentences are given the first and sixth are numbered as 1 and
6. But sentences 2 to 5 are n umbered as A, B, C and D, Select the correct
sequence of these four sentences from the four options given below

. Newton hada little dog named ‘Diamond’.
A One day after some work hi¢ went aut of his room.

B. There was a heap of written papers containing the labour of his twenty
years work lay on the table.

¢ Diamond was asicep in the room near the fire.

D While Newton was away Diamond got up and jumped on the table and
knocked down the lighted can dler.

6. The papers caught fire and were burnt to ashes.
(1)ABCD

(2) ACBD

(3) CBDA

(4) ABDC

[46\} | . {Continued)
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136. Choose from the given words below which has the séme meaning and can be
used in the same context as the underiined part in both the sentences :

A Ttiscertainly athing which tempts people,

B. Ttake exceptior to what he has just said.
(1) prototype  (2) rejection (3) object @) issue -

137. Choose from the given words below which has the same meaning and can be
used in the same context as the undetlined part in both the sentences -

A Marﬁagepmvidmaﬁappybm:lwwemwmmls.

B. The joining of the three towns into one paved tié Wiy fortie repid deve-

lopment of the new entity,
(1) Linkage (2} Union (3} Connection (4) Adjustment

Direetions: (Question No. 13§ 1o 144) : Given below in bold are a few forejgn
language phrases that are commonly used Chooss socect meaning

for each of the phrascs.

138. Corpus delicti
(1) Fake evidence of an of¥étee
(2) Hearsay evidence of an offence
(3) Lack of Eﬁidenca of an offgnce
(4) Ancvidence which constitute an offence

- (47
; (B Over)
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139. What is the closest meaning of the expression, 'ex aquo et bono' 7

(1) In equity and good conscience
(2) For the public good
(3) The thing speaks for itself
(4) In good faith

140. Ejusdem generis means
(1) Retired after longtime
(2) Of the same kind or nature
(3) Formally holding the office
(4) Out of court

141. Quid pro quo means
(1) Evidence
(1) Revenge

142, Mutatis Mutandis
(1) With unnecessary changes
(3) Withoutany change

143. Ex gratia means
(1) Very grateful
(3) Extreordinary

144. Pro bono publico means
(1) for private good

(3) for Country's 8000

(2) Favourable opinion
(4) Something in retwsn

(2) With necessary changes
(4) With change

(2) Payment made out generosity

(4) Before retirement

(2) for public good
(4) for elder person's good

(48) {Continued)
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Directions: (Question No. 145 to 146) : Given below are the jumbled sentences
of a paragraph. The first and the Ia;tmmdﬂwjmubldm
graph are given in coerect order. Arrange the middle senfence in the

145, (i) onone hand we are proud of being Indians

{H)mﬁeothﬂhmdﬁebehweasifwewmsﬁﬂﬂmhdawnofwcivﬂimﬁén

(1) murders of our own brofhers and sisters is not the way o please Ram oc
Rshim -

(v} thecitinens of the fand ﬂmmmﬁﬂmhm

(v) the ptinciples oflm.mmﬁmmﬂ

(vi) nor does it fetch us any prosperity

DLy @bimvd @O mwiid @) i
146. (i) India's message has always been one of love and peace

(i) our Buddha was the Light of Asia

(i) it.has-be.er‘; ] snm of light and wisdom to the rest of the world

(iv) Ashoka, moved by the horrots of Kalings Wer, sdopied the message of
non-violence Rkl

(V) the greatest apostle of non-violence recent years was Mahatma Gandsi
(ﬁ)mmmfuﬁ@ﬁmoﬁz’ﬁ*ﬁﬁﬂhmmmﬁatﬁmﬁhm e
Wil @A wiiy  @wwmy @5 i

) {Tirny Over)
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147. Lyric is to ode as
{1) Sky is to carth (2) Bombisto science
(3) Head is to legs (4) Newspaper is 10 journalist

148, Select the lettered pair of words which are related in the same way as the pair
given in the beginning

Intimidate : Fear

(1) maintain :. satisfaction
(2) astonish : wonder
(3) soothe ' concem
(4)lion . :'tame

149. A decision to set aside prosecution o punishment of certain offenders with-

out the element of forgiveness is termed as
(1) Alliance (2) Agreement (3) Amnesty (4) Annexation

Fm HTOY S aﬁummmﬁﬂmﬂﬁﬁﬂﬁaﬁm%aaqﬂ
A F7 I

(1) ¥ @) (3) wdgm &) e
(50} (Continued}
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150. In India questions relating to criminal activity is determined by

(1) Constitution of India (2) Indian Penal Code
(3) Personal law (4) Custom
o 3 s B & s i a7 o o s 3, 3
(1) e (2) ot 3o s
(3) e Rl L @R
Ty
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